1-تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة العهد للمستازمات الطبية

مكتب الامل

| | | Á | | |
|--|-------------|--------------|-----------------------------|------------------------------|
| Equipment Name | Model | Q ТУ. | Unit Price / CIP Baghdad | Total Price / CIP Baghdad |
| Supplying lights, surgical. Ceiling mounting | EPURE/EPURE | 159 | 26000.0\$ | 4,134,000.0\$ |

۲- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة alsana INC

مكتب الأنظمة

| No. | Unit | Unit Price | Qty. | Total Price |
|-----|---|---------------|------|----------------|
| 1 | Ceiling Lights 700/700 MC with Camera and Monitor: Power supply*2 Ceiling cover Ceiling Tube Triple Central axis Spring arm*3 Dish Sim.LED 700 Multi-Color *2 Camera HD Monitor 24" UPS | 33,600\$ | 159 | 5,342,400\$ |
| 2 | Option: Recorder FSN | 7,907\$ | 159 | 1,257,213\$ |

Training

| No. | Training | Price |
|-----|-----------------|-------------------|
| 1 | Aboard training | 5000\$ per person |
| 2 | Local training | Free |

| No. | Unit | Unit Price | Qty. | Total Price |
|-----|---|---------------|------|----------------|
| 1 | Ceiling Lights Sim.LED700/700 MC with Camera: | 26,400\$ | 159 | 4,197,600\$ |
| | Power supply*2 | 4 | | |
| | Ceiling cover | | | |
| | Ceiling Tube | | | |
| | Central axis | | | |
| | • Spring arm*2 | | | |
| | • Dish Sim.LED 700 Multi-Color *2 | | | 4 |
| | Camera HD | | | |
| | • UPS | | | |

Training

| No. | Training | Price | |
|-----|-----------------|-------------------|------------|
| 1 | Aboard training | 5000\$ per person | li settisi |
| 2 | Local training | Free | |

شركة فارمال مكتب الطوق العلمي

US Dollars One Million Eight Hundred Twenty-Eight Thousand Five Hundreds Only USD 1,828,500.00

| 1 | . 2 | | 3 | 4 | | | 5 | | | 6 |
|--|--|-------------|----------------------------------|-----------------------|--|---|---|---|--|----------------------------|
| National Code | Brief Description of Goods | Q | uantit | Country of Origin | | Price per p | | unit (Bidder may Currency) | y permissible | Total Price on DDP/Free |
| ر وقائي استان اقامه ما ما استان اقامه | The state of the s | Pac k Ph | Offered & Physical Unit | CIP price per unit | CIP price per pack (Bidder may insert place of destination) (a) | DDP at End- user , site (b) | Incidental services as defined in schedule of Requiremen t (c) | DDP at End- user, site & Incidental Series (d) ={(b)+(c)} | Delivery at End- user, site.(US Dollar) 3x5(d) | |
| الله الله الله الله الله الله الله الله | Lights surgical, ceiling mounting. Description: 700/700 LED shadowless operating lamp with SONY HD camera in the central of the lamp head and UPS emergency battery. Technical data: Illuminance:≥160,000Lux/≥160,000Lux Colour temperature:3800±500K,4400±500K,5000±50 0K Colour reduction index(Ra):95; R9 90 Illuminance depth:≥1300mm Total irradiance:544W/m²/544W/m² Size of light field:250~300mm Lamp head diameter:700/700mm Service life of illuminant:50,000h Power supply voltage:AC110-240v,50/60Hz Brightness adjustment: Automatic 8-stage continuous light adjustment Lowest height of installation:2900mm Total power consumption: 160W Total LED bulb quantity:216 pcs(18*6+18*6) Accessories, SONY HD camera in the central of lamp head UPS Emergency battery | 1 | 159 | CHINA | USD 11,500.00 | USD 11,500.00 | FOC | N/A | USD 11,500.00 | USD 1,828,500.00 |

Grand Total of Bid price: USD 1,828,500.00 - US Dollars One Million Eight Hundreds Twenty Eight Thousand Five Hundreds Only

| 1 | | 2 | 3 | 4 | 5 | |
|------------------------------------|-----------------------|---------------|-------------------|---|---|--|
| Brief Description of | Quantity and | Bid security | Final Destination | Required Delivery period as per | | |
| Product (a) | Unit pack size (e) | physical unit | amount in USD | | Incoterms® current edition | |
| Lights surgical, ceiling mounting. | 1 | 159 pcs | USD 18,285.00 | MOH Stores - KIMADIA, Baghdad, Iraq | 3 Months, CIP- Incoterms Latest Edition | |

شركة NASMA مكتب السبيل العلمي

| Three Million One Hundred Eighty | 3,180,000.00 USD |
|----------------------------------|------------------|
| Thousand US Dollars | |

| | 1 | T | 2 | | 3 | 4 | | 5 | | | |
|--------------|-------------------------|-------------|---------------------------------------|-------------------|--|----------------------|--|----------------------------------|------------------------|--|---------------------|
| | | | Brief Description | of Goods ## | | | Price per physical unit [Bidder may insert permissible Currency] | | | ency] | |
| National No. | Seller Code No. | Item No. | Product | Packing Unit Size | Quantity offered and physical unit | Country of Origin | CIP price Baghdad | DDP at End- users' site | Services as End-users' | Total price on CIP Baghdad 3*5(d) | |
| (a) | (b) | (c) | (a) | (b) | | | (a) | (b) | (c) | (d) = [(b) + (c)] | |
| N/A | ESLD/R-0606 With CCD | 1 | lights, surgical. Ceiling mounting | 1 | 159 | Italy/China | 20,000.00 | | * | | 3,180,000.00 USD |

| 1 | | 2 | 3 | | | 5 | 6. | 7. | 8. | | |
|-----------------|-------------|------------------------------------|---------------------|----------------------|----------------------|---|----------------------|-------------------------|-------|--------------------------|-----------------------------|
| Schedule No. | Item No. | Brief Description of | Quantity Offered | | | | | Total AMC Cost for 2 | Taxes | Total AMC for 2 years | Grand Total AMC for 2 years |
| | | Goods | | 1 st Year | 2 nd Year | | n th Year | Years = [4 (a)+ 4 | | with Taxes [5+6] | with Taxes [3x7] |
| (a) | (b) | | | (a) | (b) | | (n) | (b)+4n)] | | [510] | - |
| | 1 | lights, surgical. Ceiling mounting | 159 | 1,600 | 2,000 | | | 14,400 | 600 | 15,000 | 2,385,000.00 USD |

Grand Total of Bid price: 2,385,000.00 USD Two Million Three Hundred Eighty-Five Thousand US Dollars.

| 1 | | | | | 2 | | 3 | 4 | 5 | 6 |
|-----------------|-------------|---|----------------------|-------------------------|----------------------------------|------------------|-----|----------------------------------|---|--|
| Schedule No. | Item No. | Brief Descrip | otion of Go | ods | e- | | Qty | Bid security amount in USD | Final Destination | Required Delivery period as per incoterms 2010 |
| (a) | (b) | Product (a) | Stren gthh (b) | Dosage s form (c) | Pharmacope ia Standard (d) | Unitpacksize (e) | | | | |
| В | 1 | lights, surgical. Ceiling mounting | | (3.5) (4.5) | | 1 | 159 | \$42,185.54 | KIMADIA Warhous or sit of the health directorate | 4-5 months from the date of receiving irrevocable LC – CIP Baghdad |

شركة RIMSA

مكتب الهدف الذهبي

مكتب الهدف التكنولوجي

| 4, 102, 200.00 USD | four million one hundred two thousand two hundred |
|--------------------|---|
| | USD ONLY |

| National code | Seller code | Item NO. | Brief Description of Good | ds | Quant ity Offere d& physic | Country of origin | Price physic (Bidde permi Curre | al unit er may ssible | | Total Price on DDP/Free Delivery at End-user, site.(Iraqi Dinar) |
|------------------|---------------------|-------------|---|----------------------|--|----------------------|---|---|---------------|--|
| (a) | (b) | | Product (a) | Unit pack size | | | CIP BAGHDAD \$ | Incide ntal servic es as define | Pa t En | |
| | PENTALED 63N+63N | 1 1 | Supplying lights, surgical. Ceiling mounting | unit | 159 | | 25800.0 \$ | ă_ <u>alail</u> | 3_5, | 4,102,200.0\$ |

TOTAL PRICE: 4,102,200.0\$, four million one hundred two thousand two hundred USD ON المصنيق الأدوية والمستقراة المراجعة والمستقراة المراجعة عروض الأدرية الطبيقة والمفدية

| Equipment Name | Model | QTY. | Unit Price / CIP Baghdad | Total Price / CIP Baghdad | | | |
|--|---------------------|------|-----------------------------|------------------------------|--|--|--|
| Supplying lights, surgical. Ceiling mounting | PENTALED 63N+63N | 159 | 25,800.0\$ | 4,102,200.0\$ | | | |

٦- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة MEDI TRADING

| omi | mercial offer: | QTY | Unit Price | Total price | |
|-----|--|-----|----------------|----------------|--|
| No. | Description | | | | |
| 1 | Supplying lights, surgical. Ceiling mounting | 159 | \$22,500.00 | \$3,577,500.00 | |
| | IGNIS 160CAM/160C | | | | |
| | one dome. With switch over to uninterrupted power supply. | 4 | \$5,000.00 | \$20,000.00 | |
| | Abroad training course for (5) days excluding traveling days per | | | \$3,597,500.00 | |
| | Only Three Million, Five Hundred Ninety-Seven Thousand | | II. a drad IIS | | |

| | | to Dates | Total price |
|--|-----|------------|--------------|
| Description | QTY | Unit Price | Total pines |
| Option1: Monitor, Medical Grade, Wall Mounted (Not included in the main offer need to be ordered separately) | 159 | \$2,200.00 | \$349,800.00 |
| PAX-324-C2B-NAS 24"/ FHD/ 350nits/ Non-Touch/SDI port Manufactured by Advantech. Made in China | | | |

| | QTY | Unit Price | Total price |
|---|-----|------------|-------------|
| Description | QII | | |
| Option2: Display, Non-medical, Wall Mounted (Not included in the main offer need to be ordered separately) | | | 670 500 00 |
| (Not included in the main offer need to be ordered as 32" FHD Display for Educational Purposes. To be supplied from Local | 159 | \$500.00 | \$79,500.00 |
| Market | | | |

$^{\vee}$ - تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة $^{\circ}$ Dimedix شركة

مكتب الفائز العلمي

Amount of 4,637,309.92 USD

| 1 | | 2 | 3 | 4 | | | 6 | | | |
|------------------------|------------------------|---|-----|----------------------------|-----------------------------------|---|--|---|-------------|----------|
| Schedule No. (a) | Ite m No. (b) | Brief Description of Goods Quantit y offered and physical unit Quantit y Origin and physical unit | | | | Total price on DDP at End- users' site alon with Incidental series 3X5 (D) | | | | |
| | | | | | | DDP Price / End User | | DDP Price / End Users with emergency services | · • | E E |
| 60 | | ~ | | | CIP Price / End User (A) | (B) | Emergency services as stated in requiremen t schedules (C) | B+C=D | L | (J. F.) |
| 1 | | Supplying Item LIGHTS, SURGICAL, CEILING MOUNTING LEDMEDICS T/T ceiling light | 159 | German y and/or (EU) | 29,039.69 \$ | Not Applicable | Not Applicable | Not Applicable | 4,617,309.9 | 2 \$ |
| | | Abroad training for one week | 4 | NA | 5,000.00 \$ | Not Applicable | Not Applicable | Not Applicable | 20,000.00 | \$ |

Grand Total of Bid price: 4,637,309.92 USD

Four Million Six Hundred Thirty-Seven Thousand. Three Hundred Nine Dollars And Ninety-Two Cents

$^{\Lambda-}$ نجهيز أجهزة Lights Surgical Ceiling Mounting رقم المفاتحة $^{\Lambda-}$ مركة ALITKAN شركة

مكتب الاتقان الطبي

| lterna | tive #1 | المسودق الأدوية والسائم مات العلمية |
|--------|-----------------|--|
| plus | 4,611,035.28 \$ | four million six hundred eleven thousand thirty-five dollars and twenty-eight cents |
| terna | tive #2 | التاريخ / / د |
| plus | 4,344,005.00 \$ | four million three hundred forty-four thousand five dollars |

| 1 | 1 | Supplying lights, surgical Celling mounting | 159 | &DE Liechtenstein FR& | 28,874.44 | \$ Includ ed | Included | Included | \$ 4,591,035.28 |
|---|---|--|-----|-----------------------------|-----------|--------------------|----------|----------|-----------------|
| 1 | 2 | Abroad training 4 persons for one week according to Manufacturer standards | 4 | | 5,000.00 | \$ Includ ed | Included | Included | \$ 20,000.00 |

Grand Total of Bid price: [Bidders may insert permissible Currency] (\$4,611,035.28) (In figures) (four million six hundred eleven thousand thirty-five dollars and twenty-eight cents) (In words)





| 1 | | 2 | 3 | 4 | | 5 | | | 6 |
|------------------------|-----------------|---|--|---------------------------------|----------------------------|-------------------------------|---|--|--|
| Schedule .No (a) | .ltem No (b) | Brief Description of Goods | Qua ntit y offe red and | Cou ntry of Orig in | [Bidder may | Unit Pri insert pern | | rency] | Total price on End- DDP at users' site along with Incidental series (D) 3X5 |
| | | | phy sica I unit | | | DDP Price / End User | | DDP Price / End Users with emergen vy services | 2 |
| | | | | | CIP Price / End (A)User | (B) | Emergen cy services as stated in requirem ent schedule ©s | B+C=D | |
| 1 | 1 | Supplying lights, surgical Ceiling mounting | 159 | FR | 27,195.00 \$ | Included | Included | Included | \$ 4,324,005.00 |

Grand Total of Bid price: [Bidders may insert permissible Currency] (§4,344,005.00) (In figures) (four million three hundred forty-four thousand five dollars) (In words)

| السعر بالدولار الأمريكي كتابة | السعر بالدولار الأمريكي رقمأ | ت |
|---|------------------------------|---|
| (ميلونين وثلاثمانة وتسعة وستون الف ومانة دولار امريكي لاغير) شاملاً اجور التدريب خارج العراق والبالغة (25,000) خمسة وعشرون الف دولار امريكي اجمالاً (للمتدربين الخمسة). | 2,369,100\$ | 1 |

| 6 | | 5 | | | 4 | 3 | | 2 | The state of the | 1- /- | |
|--|---|---|--|--|--|------------------------------|------------------------|--|------------------------------|-------------------|-------------------------|
| | , | | | | عرب المرابعة المعلمة | | | | | | |
| السعر الإجمالي DDP المستخدم النهائي مع الخدمات الثانوية 8*5(د) | IDDP الى مكان المستخدم النهائي مع الخدمات الثانوية | الخدمات الثانوية كما حددت في جدول المتطلبات | DDP الى مكان المستخدم النهائي | السعر CIP / يمكن إدراج نقطة الوصول | بلد المنشأ | الكمية المقدمة والوحدة | حجم وحدة التعبئة | المنتج | القابق المادة | رمز رقم البائع | الرمز الوطني الوطني (أ) |
| | (د)=[(ب)+(ج)] | (ج) (د)=[(ب)+ | (ب) | (1) | | | (ب) | (1) | (ج) | (ب) | |
| | | | Light | s, Surg | ical, | Ceilin | g Mou | unting | | | |
| \$2,369,100 ميلونين وثلاثمائة وتسعة وستون الف ومائة دولار امريكي | 14,900 | 0 | 14,900 | لاينطبق | China | 159 Unit | 2 Carton / Set | Jiangsu Keling Medical Appliances Co., Ltd. | Shadowless Operating Lamp | KL-LED- D78 | لاينطبق |

المجموع الاجمالي للعطاء (بالدولار الامريكي): 2,369,100\$ (ميلونين وثلاثمائة وتسعة وستون الف ومائة دولار امريكي لاغير) شاملاً اجور التدريب خال المؤققة الدولية والمستريات المستون الفي المستون الفيرة الفائمية الفائمية الفائمية الفائمية المستون الغمسة).

| 5 4 | 3 | 1 | | |
|--|-----------------------------|---|---------------------------|--------------------|
| ضمان طاء جهة مدة ال ينار التسليم المط اقي وأ | الكمية/ العد الوحدة بالد | وصف موجز للاجهزة الطبية The shadowless operating Jamp Ceiling Mounting | بند رقم (ب) | جدول رقم (أ) |
| 200 من تاريد ون DDP ون مخازن فنج ممانة كيماديا غراقي غراقي | ملب ملب 159 | The shadowless operating lamp Ceiling Mounting has cold light bulbs and high performance lenses. That has better opacity, deeper illumination depth, and anti-glare appropriate for Doctors eyes, and fits for optimal visualization of small, low contrast objects. FDA & ISO الجهاز حاصل على شهادات المحافظة في الأسواق الأمريكية. • Light Source, Type: LED • Number of light-heads: 2 light-Heads • Number of bulbs or elements Volts: 84 LED Beads per lamp holder • Volts: ≤ 50 VDC • Life, hr: ≥ 50,000 hr. • Color temperature, K: Adjustable color temperature (between 3500-4500 K) • Adjustable: YES, three steps adjustable. • Color rendering index: Ra≥95 • R9 value: YES Red color R9: ≥97 | SHADOWLESS OPERATING LAMP | 1 |

۱۰ - تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60

مكتب الايمز

| Plus | Three million nine hundred seventy-five | \$ 3,975,000.00 | | | | |
|------|--|-----------------------------|--|--|--|--|
| | thousand dollar only | الشرق قال | | | | |
| | | Manufacture 111 - 111 miles | | | | |
| | 3. The Price Schedule for (Medical Equipment) to | 5 | | | | |
| | 3 4 | Price per physical unit | | | | |

| | 1 | | 2 | | | | | | physical unit | 1 | |
|-----------------|----------|----------|---------------------------|----------------------|--|----------------------|--|------------------------------|------------------------|--------|---|
| | | | Brief Description of | Goods ## | | | [Bid | der may insert | permissible Currer | icyj | Total price on CIP at End- |
| lational No. | a I- No | item No. | product | Packing Unit Size | Quantity offered and physical unit | Country of Origin | CIP price [Bidder may insert place of destination] | DDP at End-users' site | End-users' Services as | | users' site along with Incidental Services 3*5(d) |
| | | | | | | | (a) | (b) | (c) | (c)) + | |
| | | 40 8 | (a) | (b) | | | | | | + | 3,975,000.00 |
| (a) | (b) | TO SE | (a) | [Insert] | 159 | German | 25,000.00 | | | | |
| [Insert | [Insert] | | Surgical ceiling light | 100 | | | | | | | 3,975,000.0 |

| والخدمات الطبية | | | |
|-----------------|--|--|--|
| | | | |

| Item # | Item description | Qty | Unit Price USD | Total Price USD |
|--------|--|---------------------------------------|---|--------------------|
| | Surgical Led Light – Ceiling mounted with HD camera | | | |
| | AMNOLED 5 / AMNOLED 5 combination, complete with ceiling mounting and HD camera | | | |
| | Model: AMNOLED 5 80-025-09 Manufacturer: AMNOTEC Origin: Germany | | | |
| | Technical Specifications:- Ceiling light consisting of central axis, extension arms, spring arms and light heads Qty 2, with Camera HD | | | 2 |
| 1 | Light Source : LED Light Heads : 2 Life.hr : ≥ 50,000 hr | 159 | 25,000.00 | 3,975,000.00 |
| | Color Temperature: Adjustable Color Temperature (3500-5500 (K) Depth,cm: 100 cm | | | |
| | Illumination Level, LUX : 160,000 Mounting : Ceiling Field size : Adjustable | | | |
| | Rotation: 360° increase of temperature at head height <1°C Colored Shadow Less: Yes Sterilizable handles: included | - AAlai | الشركسة المستوكسة المستويدة والمستوان والمستو | العلا |
| | Sterilizable handles: included Power input: 220-240V, 50/60 HZ Sterile handle for OR-light AMNOLED, autoclavable of the both headlights Battery emergency back up for each lighthese | معادمات المطبيد زة انعلبية والخدمي | مسلام ونشق عروا فو الأجهه مسلم المشارية | انعند |
| | Battery emergency back-up for each rightnead | 4. | - | |
| 2 | Abroad training for 4 persons for One week | 1 | F.O.C. | F.O.C. |

شركة GUBBEMED

مكتب الميسون

Option 1. GUBBEMED International GmbH, LED light

Description

Qty Unit Price. Total Amount PCS. US\$

US\$

SAPPHIRE Duo LED OR Lights SAP-002TV

Ceiling Mounted with HD Camera

159 33.000,00 5.247.000,00

Consist of:

- 2 X LED light head ,of 160000 LUX each.
- 2 x Spring Arms.
- 1 Central Axis, Dual.
- 1 Ceiling Tube (corresponding to ceiling height.
- 1 Ceiling Cover.
- 2 X Power Supply / 24V DC.
- 4 X sterilizable handle.
- 1 X Ceiling Anchor Palte.

Option 2. Gebrüder Martin GmbH & Co. KG, E9i-E9i with HD Camera

PO.

Description

Qty Unit Price. Total Amount

89-800-50/56-04

E9i-E9i LED Lights Ceiling Mounted with HD camera

159 28.000,00 4.452.000,00

Consist of:

- Ceiling tube 110 marLED E.
- Ceiling tube 110X 700.
- Ceiling tube-cable 800mm for CT d110
- Power Module 28/6 DR
- Power Module 28/6 DR
- Patch cable RJ45 CAT 5E, 3m
- · Cable Minicoax-BNC with wall socket 17m
- · Ceiling plate square
- · Support arm marLED E.
- ·Central bearing double, standard
- Handle assembly marLED standard
- •Handle assembly with camera HD
- •Spring arm AC2000 12-18kg 3-pole
- •Spring arm AC2000 12-18kg 9-pole

مكتب نهضة الشرق

| 1 | 10.345 | 2 | 3 | | | 4 | | | 5 | 6. | 7. | 8. |
|--------|--------|--|---------------------|---|----------------------|----------------------|----------------------|-------------------|-----------------------|-----------------|--------------------------------|------------------------------|
| No. No | Item | | | AMC Cost for year wise after completion of '5' year Warranty period. | | | | | Total AMC | | Total AMC for | Grand Total AMC for 5 |
| | No. | Brief Description of Goods | Quantity Offered | 1st Year | 2 nd Year | 3 rd year | 4 th year | | Cost for '5' Years | Taxes | 5 years with Taxes [5+6] | Years with Taxes [3x7] |
| | (b) | | Goods | (a) | (b) | (c) | (d) | | | | | |
| 1 | 1 | Warranty & Maintenane labor+ spare parts for for Surgical Light | 159 | 1,000,000 E-i- | 1,100,000 | 1,210,000 E.s. | 1,331,000 E-3. | 1,464,100 £.3. | 6,105,100 とよ | 164,838 E.A. | 6,269,938 £.3. | دع 682,796,216 |

Grand Total of Bid price: six million two hundred sixty-nine thousand nine hundred thirty-eight Iraqi Dinars

| Kow | Items | Price |
|----------------------|------------------------|-----------|
| 1 | Light Pack | 75,000 |
| | | د.ع. |
| 2 | Plexy | 372,000 |
| | | د.ع. |
| 3 | Main Board | 372,000 |
| | | د.ع. |
| 4 | Charger Board | 372,000 |
| | | د.ع. |
| 5 | DC to DC Board | 372,000 |
| | | د.ع. |
| 6 | User Panel Board | 297,000 |
| | | د.ع. |
| 7 | User Panel Board Cover | 297,000 |
| | | د.ع. |
| 8 | Rotary Connector | 372,000 |
| _ | | د.ع. |
| 9 | Power Supply 150 W | 734,000 |
| | | د.ع. |
| 10 | Main Spring | 372,000 |
| | | د.ع. |
| 11 | Stainless steel Clip | 13,000 |
| | | د.ع. |
| 12 | Joint Cover | 372,000 |
| CONTRACTOR OF STREET | | د.ع. |
| 13 | Arm Cover | 372,000 |
| | | د.ع. |
| 14 | Autoclavable Handle | 743,000 |
| | | د.ع. |
| 15 | Front Handle | 495,000 |
| 16 | | د.ع. |
| 16 | Side Handle | 149,000 |
| 17 | | د.ع. |
| 17 | Battery | 1,436,000 |
| | | د.ع. |

| | 1 | | 2 | | 3 | 4 | | | 5 | | 6 |
|-----------------|----------------|-------------|-----------------------------------|--|---------------|-----------|------------------------|--|---|--|----------------------|
| National No. | Seller Code | Item No. | Brief Descriptio | f Description of Goods ## Quan offerec | | Country | | Price per physical unit (Iraqi Dinars) | | | |
| 140. | No. | 10. | Product | Packing Unit Size | physical unit | of Origin | CIP Price (BAGHDAD) | DDP at End- users' site | incidental Services as defined in Schedule of Requirements | DDP at End- users' site and Incidental Services | 3*5(d) |
| (a) | (b) | (c) | (a) | (b) | | | (a) | (b) | (c) | (d) = [(b) + (c)] | |
| | | 1 | Surgical Light Model: BS8000 +/2 | 170*110*70 (cm) | 159 | Iran | 31,766,000 g.s. | 31,766,000 E.s. Kimadia Warehouse | .د.ع 1,314,000 | 33,080,000 ह. ३. | 5,259,720,000 د.ع |

5,259,720,000 د.ع

five billion two hundred fifty-nine million seven hundred twenty thousand Iraqi Dinars

EQUAL TO:

| 3,602,548 \$ | three million six hundred two thousand five hundred |
|--------------|---|
| 3,002,340 \$ | forty-eight Dolar |

| No. | QTY | Description | Model | Manuf. / Origin | Unit Price USD | Total Price USD |
|-----|-----|--|---|-------------------------|-------------------|--------------------|
| 1. | 159 | lights, surgical. Ceiling mounting | HyLED X9/X9 | Mindray / China | <u>2</u> 6,000.00 | 4,134,000.00 |
| | 4 | Abroad training: for five days excluding travelling days in the country of origin or any other country presented by the manufacturer for | | الرامية والمشرمات ال | Included | Included |
| | 1 | CIP Baghdad | 1 | IN APPEAL OF THE | Included | Included |
| | 1 | Installation & Warranty 5 years (spare parts & labor) | 4. | 118 | Included | Included |
| | | Total | Price USD | | | 4,134,000.00 |

Total Price in Figure: \$ 4,134,000.00 Total Price In word: four million one hundred thirty-four thousand US Dollars

| TEM NO | ITEM | QTY | ORIGIN | BRAND | MODEL | UNIT PRICE | | | TOTAL PRICE | |
|--|---|-----|--------|------------|---|------------|-----------|---|--------------|--|
| 1 | Lights, surgical. Ceiling mounting | 159 | TURKEY | BIÇAKCILAR | Luxline 2160C LED Surgical Light With Camera- | s | 23,955.00 | s | 3,808,845.00 | |
| عرب خارجي لاربعة اشخاص ثمدة خمسة إيام عدا ايام السقر | | | | | | | 1 PERSON | s | 20,000.00 | |
| 3 | 5 YEAR MAINTENANCE AND WARRANTY 159 DELTA TRADE COMPANY | | | | | | REE | | FREE | |
| | لل الله الله الله الله الله الله الله ا | | | | مشاور قانوني اق | GRAND | TOTAL | s | 3,828,845.00 | |

ه ۱- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة MAWARD ALMUSWQOON

مكتب النخبة

| tem# | Item description | Qty | Unit Price USD | Total Price USD |
|------|---|--|-------------------|--------------------|
| | Ceiling Light -Surgical Double head with TruVidia HD 2000 camera Model: TruLight 5510/5520 (HD 2000) Manufacturer: Hillrom -Trumpf Origin: Germany | Anna San Anna Anna Anna Anna Anna Anna A | | |
| | Technical Specifications:- Ceiling light consisting of central axis , extension arms, spring arms and light heads Qty 2, with Camera HD 2000 | Co Co | A Mary of | |
| 1 | Light Source : LED Light Heads : 2 Life.hr : ≥ 60,000 hr Color Temperature: Adjustable Color Temperature | 159 | 27,000.00 | 4,293,000.00 |
| | (3500/4000/4500/5000 (K) Depth,cm: ≥ 50 cm Illumination Level, LUX: 160,000 Mounting: Ceiling Field size: Adjustable | | | |
| | Rotation: 360 Head to Light Ratio, mW/m2.lx: ≤4 Colored Shadow Less: Yes Sterilizable handles: included Power input: 220-240V, 50 HZ | | | |
| | Please Refer to Technical Datasheet for more details Please check enclosed compliance sheet | | | |
| 2 | Sterilizable ALC Handle, 3 pcs P/No. 1612088 | 159 | Included | Included |
| 3 | Sterilizable Camera Handle, 3 pcs P/No. 0337643 | 159 | Included | Included |
| 4 | Abroad Training for (4) persons in Germany for (1) week. | 1 | Free of charge | Free of charg |

| | 1 | | 2 | | 3 | 4 | | | 5 | | 6 |
|-----------------|-----------------|--------------|---|----------------------|--|----------------------|---|------------------------------|--|--|--|
| | | TO FEE | Brief Description of Goods ## | | | | Price per physical unit [Bidder may insert permissible Currency] | | | | Total price o |
| National No. | Seller Code No. | Wein Na. | Product | Packing Unit Size | Quantity offered and physical unit | Country of Origin | CIP price [Bidder may insert place of destination] | DDP at End-users' site | incidental Services as defined in Schedule of Requirements | DDP at End- users' site and Incidental Services | CIP at End- users' site along with Incidental Services |
| (a) | (b) | (c) | (a) | (b) | | | (a) | (b) | (c) | (d) = [(b) + | 14 7 |
| [Insert] | [Insert] | [Insert] | Surgical Light Ceiling- Double Head With Camera HD 2000 | [Insert] | 159 | Germany | 27,000.00 | (ÖŘ | TRADING: | | 4,293,000.00 |
| our mil | lion two hu | ndred ninety | three thousand | dollar only | | | | 201 | 2 Z | | 4,293,000.00 |

| Plus | Four million two hundred ninety three thousand | \$ 4,293,000.00 |
|------|--|--|
| | dollar only | la l |
| | | |

17- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة MODERN SUPPLIES

مكتب البيان

| Manufacturer Code | Item's name | Packing | QTY | Origin | Unit Price/USD | Total/USD CIP/Bagdad |
|-------------------|--|---------|-----|--------|-------------------|-------------------------|
| DL-66C UZUMCU | lights, surgical. Ceiling mounting | unit | 159 | Turkey | \$ 15,502.5 | \$ 2,464,897.5 |

Total Amount USD in Words ,Two million four hundred sixty-four thousand eight hundred ninety-seven dollars and fifty cents CIP Baghdad-Iraq – Kimadia warehouses

2,464,897.5 \$ TWO MILLION FOUR HUNDRED SIXTY-FOUR THOUSAND EIGHT HUNDRED NINETY-SEVEN AND FIVE TENTHS US Dollar

| | 1 | | 2 | | 3 | 4 | | | 5 | | 6 |
|-----------------|--------------------|----------|--|-------------------------|--|----------------------|---|-------------------------------------|--|---|---|
| | | | Brief Description of Goods lights, surgical. Ceiling mounting | | | | | | physical unit DOLLAR] | 1100000 | |
| National No. | Seller Code No. | Item No. | Product | Packing Unit Size | Quantity offered and physical unit | Country of Origin | CIP price [Bidder may insert place of destination] | DDP at End- users' site | incidental Services as defined in Schedule of Requirements | DDP at End- users' site and Incidental Services | Total price on DDP at End- users' site along with Incidental Services 3*5(d) |
| (a) | (b) | (c) | (a) | (b) | | | (a) | (b) | (c) | (d) = [(b) + (c)] | |
| 41 | DL-66C UZUMCU | | hights, surgical Cetting mounting | Unit | 159 unit | Turkey | 15,502.5 \$ | | | | 2,464,897.5 \$ |

مكتب الازل

3. Price Schedule for Goods to be imported non-

| | 1 | | 2 Brief Description of Medical S | unnlies | 3 Quantity | 4 Country of | Pri (Bidder n | ce per p | hysical unit | () | Total Price on DDP/Free Delivery at End-user, |
|--------------------|-------------|-------------|-------------------------------------|----------------|------------------------------|-----------------|---|-------------------|---|--|---|
| National code (a) | Seller code | Item NO. | Product (a) | Unit pack size | Offered& physical unit | origin | CIP price (Bidder may insert place of destination) (a) | DDP at End- | Incidental services as defined in the schedule of Requirement (c) | DDP at End-user, site & Incidental Series (d) ={(b)+(c)} | at End-user, site. (Iraqi Dinar) |
| Surgical lights | KX770-001 | 1 | VLEDX double ceiling light | pcs | 159 | Germany | \$ 22,219.00 | | | | 3,532,821.00 |

Total offer in words: Three million five hundred thirty-two thousand, eight hundred twenty-one dollars only CIP Baghdad -kimadia warehouse. ree million five hundred unity-two discounts of the million of the hundred unity that the hundred unity-two discounts are allowed.

| | | Sur | gical lights | | | | |
|------------------------------------|-----------|---|------------------------------|------------------------------------|--------------------------|--|--|
| Surgical lights illu Company name | code | rgical site for optin depths in incisi | nal visualiza ons and boo | ation of small, low-cody cavities. | ntrast objects at varyin | | |
| Company name | KX770-001 | VLEDX double ceiling light | 159 pcs | \$22,219.00 | \$3,532,821.00 | | |

only CIP Baghdad -kimadia warehouse

۱۸- تجهیز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شرکة AMJAAD ASIYA

مكتب ناس

| 1 | | 2 3 4 | | | | | 5 | 6 | 7 | 8 | |
|---|-------------|------------------------------------|----------|--|-----------|-----------|-----------|---------------------|-------|------------------------|---|
| | Item No. | | Quantity | AMC Cost for year wise after completion of 4-year Warranty period. | | | | Total AMC | Taxes | Total AMC | GILLIAN |
| | | | Offered | YEAR 1 | YEAR 2 | YEAR 3 | YEAR 4 | Cost for 4 Years | | YEARS WITH TAXES | TOTAL AMMOUNT FOR 4 YEARS WITH TAXES |
| 1 | ALL | lights, surgical. Ceiling mounting | 159 | 800 | 1000 | 1200 | 1400 | 4,400 | NIL | 4,400 | 699,600 |

TOTAL PRICE: SIX HUNDRED NINETY-NINE THOUSAND SIX HUNDRED DOLLARS

| 1-OPTION 1 WITH 3 HEADS: 3,180,000 \$ | THREE MILLION ONE HUNDRED EIGHTY THOUSAND DOLLARS |
|---------------------------------------|---|
| 2-OPTION 1 WITH 2 HEADS: 2,377,000 \$ | TWO MILLION THREE HUNDRED SEVENTY-SEVEN THOUSAND DOLLARS |
| 3-OPTION 2 WITH 3 HEADS: 2,925,600 \$ | TWO MILLION NINE HUNDRED TWENTY-FIVE THOUSAND SIX HUNDRED DOLLARS |
| 4-OPTION 2 WITH 2 HEADS: 2,146,500 \$ | TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS |
| 5-OPTION 3 WITH 3 HEADS: 2,146,500 \$ | TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS |

(Hereinafter called "Three million one hundred eighty thousand dollars two million three hundred seventy-seven thousand dollars two million nine hundred twenty-five thousand six hundred dollars two million one hundred forty-six thousand five hundred dollars two million one hundred forty-six thousand five hundred dollars only") or such other

| 1 | 2 | 3 | 4 | | | 6 | |
|--------------------------------------|---------------------------------------|-----------------------------|----------------------|--|---|---|--|
| ITEM NUMBER | BRIEF DESCRIPTION OF GOODS | QUANTI TY OFFERE D | COUNTRY OF ORIGIN | UNIT | Total price on DDP at End- users' site along with Incidental series 3X 5 (D) | | |
| | | | | CIP Price /Nd User (A) Al-Dabbash warehouses USD | Emergency services as stated in requirement schedules (C) | | |
| 1 Lights, surgical. Ceiling mounting | | | | 20,000 | INCLUDED | 3,180,000\$ CIP AL=Dabbash warehouses | |
| 2 | Lights, surgical. Ceiling mounting | 159 | TURKEY | 14,950 | INCLUDED | 2,377,000\$ CIP AL=Dabbash warehouses | |
| 3 | Lights, surgical. Ceiling mounting | 159 | TURKEY | 18,400 | INCLUDED | 2,925,600\$ CIP AL=Dabbash warehouses | |
| 4 | Lights, surgical. Ceiling mounting | 159 | TURKEY | 13,500 | iNCLUDED يه والمساردات العاد | 2 146 5000 | |
| 5 | Lights, surgical. Ceiling mounting | 159 | CHINA | 13,500 | مروض الأجهزة الطبية والغا INCLUDED تشاريخ / | | |

1-THREE MILLION ONE HUNDRED EIGHTY THOUSAND DOLLARS

2-TWO MILLION THREE HUNDRED SEVENTY-SEVEN THOUSAND DOLLARS

3-TWO MILLION NINE HUNDRED TWENTY-FIVE THOUSAND SIX HUNDRED DOLLAR

4-TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS

5-TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS

| 1 | 2 | 3 | 4 | 5 | 6 |
|-----|---|----------|----------------------|------------------|-------------------------------|
| No. | Brief Description of Goods | Quantity | Country of Origin | Unit Price \$ | Total price CIP Baghdad \$ |
| 1 | lights, surgical. Ceiling mounting (3 HEADS) | 159 | TURKEY | 20,000 | 3,180,000 |
| 2 | lights, surgical. Ceiling mounting (2 HEADS) | 159 | TURKEY | 14,950 | 2,377,000 |
| 3 | lights, surgical. Ceiling mounting (3 HEADS) | 159 | TURKEY | 18,400 | 2,925,600 |
| 4 | lights, surgical. Ceiling mounting (2 HEADS) | 159 | TURKEY | 13,500 | 2,146,500 |
| 5 | lights, surgical. Ceiling mounting (3 HEADS) | 159 | CHINA | 13,500 | 2,146,500 |
| | | | | المتكردات الطبية | |

1-THREE MILLION ONE HUNDRED EIGHTY THOUSAND DOELARS
2-TWO MILLION THREE HUNDRED SEVENTY-SEVEN THOUSAND DOLLARS

3-TWO MILLION NINE HUNDRED TWENTY-FIVE THOUSAND SIX HUNDRED DOLLARS
4-TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS
5-TWO MILLION ONE HUNDRED FORTY-SIX THOUSAND FIVE HUNDRED DOLLARS

مكتب تكنولوجي

| Kimadia Description | Company Description | QTY | Unit price \$ | Total price \$ |
|---------------------------------------|---|-----|------------------------------------|---------------------|
| LIGHTS, SURGICAL, CEILING MOUNTING | LED 300 MC/ LED 300MC with HD Camera | 159 | 24,365.00 \$ | 3,874 ,035.00 \$ |
| Total price in word USD | Three million eight hundred so CIP Baghd | | r thousand , thir dia warehouse | ty five dollar only |

| Kimadia Specific | ations | Dr Mach Specifications | | |
|--|---|--|--|--|
| APPLICATION | | rgical site for optimal visualization of small ing depths in incisions and body cavities. | | |
| FDA CLEARANCE OR CE MARK | Yes preferred (FDA) | Yes, CE | | |
| LIGHT SOURCE, TYPE | Yes preferred (LDA) | Yes, LED | | |
| Number of light-heads | 2 70 | Yes, 2 | | |
| Number of bulbs or elements | ≥ 70 | Yes, In total 72 elements. | | |
| Volts | ≤ 50 VD € 100 × 1 | Yes, 24-30 V DC | | |
| Life, hr | ≥ 40,000 | Yes, 60,000 hrs. | | |
| COLOR RENDERING INDEX | ≥ 95 | Yes, 97 | | |
| COLOR TEMPERATURE, K | Any value From (3500-5000) | Yes | | |
| Adjustable | Yes | Yes | | |
| R9 value | ≥ 90 | Yes, 97 | | |
| FIELD SIZE, cm Diameter | ≥ 20 | Yes, 18 - 26 cm | | |
| FOCAL LENGTH, cm | ≥ 70 | Yes, 100 cm | | |
| ILLUMINATION LEVEL, maximum lux at 1 m | ≥ 150000 | Yes, 160000 | | |
| | CONTROLS | | | |
| Dimmer | Yes | Yes | | |
| Focus | Yes | Yes | | |
| Field size | Yes | Yes | | |
| On sterile handle | Yes | Yes | | |
| ROTATION, ° | 360 | Yes | | |
| VERTICAL ADJUSTMENT RANGE, cm | ≥ 100 | Yes, 118 cm | | |

61/2022/60 / رقم المفاتحة Lights Surgical Ceiling Mounting / رقم المفاتحة BlueBox شركة مريتاج العلمي

| 1 | | 2 | 3 | | 4 | 4 | | 5 | 6 | 7 | 8 |
|---|-------------|---|---------------------|--|-----------|-----------|-----------|-------------------------------------|-------|-------------------------------------|------------------------------------|
| | Item No. | Brief Description of Goods | Quantity Offered | AMC Cost for year wise after completion of 4-year Warranty period. | | | | Total AMC Cost for 4 Years | Taxes | Total AMC for 4 YEARS WITH | GRAND TOTAL AMMOUNT FOR 4 |
| | | | | YEAR 1 | YEAR 2 | YEAR 3 | YEAR 4 | | 7 | TAXES | YEARS WITH TAXES |
| 1 | ALL | lights, surgical Ceiling mounting | 159 | 800 | 1000 | 1200 | 1400 | 4,400 | NIL | 4,400 | 699,600 |

TOTAL PRICE: SIX HUNDRED NINETY-NINE THOUSAND SIX HUNDRED DOLLARS

| 1 | 2 | 3 | 4 | 5 | | 6 |
|---|--|-------------|---------|--|--|--|
| | BRIEF DESCRIPTION OF GOODS | CRIPTION TY | | UNIT I | Total price on DDP at End-users' site along with Incidental series 3X 5 (D) | |
| | | | | CIP Price /Nd User (A) Al-Dabbash warehouses USD | Emergency services as stated in requirement schedules (C) | |
| 1 | Operation table, general surgery | 159 | GERMANY | 23,500 \$ | INCLUDED | 3,736,500 \$ CIP AL=Dabbash warehouses |

THREE MILLION SEVEN HUNDRED THIRTY-SIX THOUSAND FIVE HUNDRED US DOLLARS

شركة COMON

مكتب الحوراء

| | | | 2 | 120.00 | 3 | 4 | | | 5 | | 6 |
|------------------------------------|---------------------|-------------------|--|-------------------|-------------------|--------|----------------------------|------------------------------------|-------------------------|---|-----------------------|
| | | | Brief Description of goods | | | | | Price | per Unit | | |
| Kimadia National Code (a) | Come Code (b) | Item No (c) | Product Name | Unit pack size | QTY offered (PCS) | Origin | CIP Price / 1 PC (a) | DDP at End User price (b) | Incidental service (c). | DDP at End User + Incidental Services (d)=(b)+(c) | Total Price 3x5(d) |
| | L6SC | | Kimadia Description: lights, surgical. Ceiling mounting Comen Description: Surgical light with L6SCA satellite light(48 LED bulbs) + L6SCB main light (64LED bulbs)DC Dimmins technology Illumination range 40000-160000 Lux Color temperature adjustable from 3800Kto 5500KSmart shadow management system Ra index (Color Rendering Index) 983 illumination modes: bright, normal. &endoscopic | 1PC | 1 | China | \$17,403.00 | | | \$17,403.00 | \$17,403.00 |

| | | | | | | | | | 9 | | 0 |
|------------------------------------|---------------------|-------------------|--|-------------------|----------------------|--------|----------------------------|------------------------------------|-------------------------|---|-----------------------|
| | | | Brief Description of goods | | | | SERVICE STATE | Price | per Unit | | A NAME OF THE |
| Kimadia National Code (a) | Come Code (b) | Item No (c) | Product Name | Unit pack size | QTY offered (PCS) | Origin | CIP Price / 1 PC (a) | DDP at End User price (b) | Incidental service (c). | DDP at End User + Incidental Services (d)=(b)+(c) | Total Price 3x5(d) |
| lternative | Option: | | | | | | | | | | |
| ** | L5 | 9 | Kimadia Description: lights, surgical. Ceiling mounting Comen Description: Surgical light with L5A satellite light (30LED bulbs) + L5B main light (36 LED bulbs) DC Dimming technology Illumination range 40000-160000 Lux Color temperature fixed at 4350 KSmart shadow management system Ra index (Color Rendering Index) 983 illumination modes: bright, normal &endoscopic. | 1PC | | China | \$11,388.00 | | | \$11,388.00 | |

| Kimadia | Kimadia National Code (a) Code (b) Additional Accessory Fit for Both L6SC & L5: | | 4 | Price per Unit | | | | 6 |
|-------------|---|-------------------|-------------------|----------------|----------------------------|------------------------------------|-------------------------|---|
| Code (a) | | Unit pack size | QTY offered (PCS) | Origin | CIP Price / 1 PC (a) | DDP at End User price (b) | Incidental service (c). | DDP at End User + Incidental Services (d)=(b)+(c) |

| 1. Training Cost Description | | |
|--|----------------------------|----------------|
| Abroad training: for five days excluding travelling days in the | Price/Person No. of Traine | ees Total Cost |
| origin for two persons from one of the End User institutes as well as one engineer from Kimadia + one Engineer from technical affairs directorate/management dep. of medical equipment - Amount of abroad training for one person for five days excluding travelling days is (35 000 000 five the training for one person for five days excluding travelling | \$5,000.00 | \$20,000.00 |
| days is (\$5,000.00/ five thousand USD) - Abroad training amount to be added to the appraisal cost | Tr. Aller | 2 |

Grand Total of Bid price: \$17,403.00 (In figures)

ع/ صاحب الإمتياز ص. سعاد عبد القادر سليم بموجب الوكالة ذي العدد العمومي ١١٩٥٧ في ١٩٥/١٧ - -

Delivery Period: TBC as per INCOTERMS® current edition _

شركة بوابة الجنوب مكتب بيت الحكمة

| | 1 | 2. 1 | The Price Schedule for (Medical Equipn | | 3 | 4 | 5 | 6 |
|---------------------------------|------------|--|---|------|----------------------|--|---|-----------------|
| National No. Seller Code No. | | Brief Description of Goods lights, surgical. Ceiling mounting | | 13 | | Price per physical unit [US DOLLAR] | Total price on DDP at End- | |
| | Itam | | Packing Ouantity offered and physical unit Size | | Country of Origin | CIP price [Bidder may insert place of destination] | users' site along with Incidental Services 3*5(d) | |
| (a) | (b) | (c) | (a) | (6) | 3/ | | (a) | |
| | Luvis L400 | 1 | lights, surgical. Ceiling mounting | Unit | 159 unit | Korea | 17,000.00 \$ | 2,703,000.00 \$ |

Grand Total of Bid price: [US Dollar] 2,703,000.00 \$ (In figures)
TWO MILLION SEVEN HUNDRED THREE THOUSAND US Dollar (In words)

TWO MILLION SEVEN HUNDRED THREE THOUSAND US Dollar (In words)

Belivery Period: Partial Shipment within 7 Month from gate of receiving the LC as per INCOTERMS® current edition.

Redical Equipments and Supplies

| No. | Manufacturer Code | Item's name | Packing | QTY. | Origin | Unit Price/ USD | Total Price/ USD |
|-----|----------------------|---------------------------------------|---------|------|--------|--------------------|---------------------|
| 1 | Luvis L400 | lights, surgical. Ceiling mounting | Unit | 159 | Korea | \$ 17,000.00 | \$ 2,703,000.00 |

Total Amount USD in Words: TWO MILLION SEVEN HUNDRED THREE THOUSAND US Dollar CIP Baghdad-Iraq - Kimadia warehouses

17- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة DMK مكتب بيت الحكمة

| The state of | | Surgical | lights | | |
|--------------------------------------|--------------------|---|----------|----------------|-----------------|
| Surgical lights illu | v-contrast objects | | | | |
| Company name | Code | Item | QUANTITY | UNIT PRICE USD | TOTAL PRICE/USD |
| Advanced Instrumentations Inc. | SL700/700 LED | LED Surgical Light, Ceiling, Double (700mm) | 159 pcs | \$22,100.00 | \$3,513,900.00 |
| Three milli | | Total Price: ed thirteen thousand ndad -kimadia wareh | | d dollars | \$ 3,513,900.00 |

61/2022/60 حجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة OSAKA مكتب المساهمة العلمي

| Manufacturer Code | Item's name | Packing | QTY | Origin | Unit Price/USD | Total/USD CIP/Bagdad |
|----------------------|---------------------------------------|--------------|-----------|---------|----------------|-------------------------|
| Convelar 1677Led | lights, surgical. Ceiling mounting | Unit | 159 | Germany | \$ 23,320.00 | \$ 3,707,880.00 |
| | Total A | mount USD CI | P Baghdad | -Iraq | | \$ 3,707,880.00 |

Total Amount USD in Words: THREE MILLION SEVEN HUNDRED SEVEN THOUSAND EIGHT HUNDRED EIGHTY

US Dollar CIP Baghdad-Iraq- Kimadia Warehouse

شرکة Capital Tech

مكتب عين العراق

| Item name | quantity | Unit price | Total price |
|--|------------------------------|----------------|-------------------|
| Surgical lamp - LAM Series | 159 | 23,677 USD | 3,764,643 USD CIP |
| Double light head (160k Lux *140k Lux) - LAM II | | | BAGHDAD MOH |
| with camera preparation & color temperature managements | The second second | | WAREHOUSES AL- |
| INCLUDED FOLLOWING ACCESSORIES: | COLUMN TO THE REAL PROPERTY. | | DABBASH |
| armboard, pair of legs shaped support, sacral support gel pad, | | | |
| eel & head protector, arm & heel support, leg shaped support. | | | |
| heel & head protector, arm & heel support, leg shaped support. | | SIX HUNDRED FO | RTY THREE USD CIP |

THREE MILLION SEVEN HUNDRED SIXTYFOUR THOUSAND SIX HUNDRED FORTY THREE USD CIP BAGHDAD MOH WAREHOUSES AL-DABBASH

| | Technical Specifications | |
|--|---|--|
| pole abi | Required specification | LAM II |
| APPLICATION | Surgical lights illuminate the surgical site for optimal visualization of small, low-contrast objects at varying depths in incisions and body cavities. | |
| FDA CLEARANCE ORCE MARK | Yes preferred (FDA) | CE |
| LIGHT SOURCE, TYPE | LED or HD-LED | LED |
| Number of light-heads | ≥ 2 | 4 |
| Number of bulbs or elements | ≥ 70 | |
| Volts | ≤ 50 VDC | |
| Life, hr | ≥ 40,000 | 60,000 hr |
| COLOR TEMPERATURE, K | Any value From (3500-5000) | Four types adjustable 3500,4000,4500,5000 |
| Adjustable | Yes | Yes |
| COLOR RENDERING INDEX | ≥ 95 | Yes more than 95 |
| R9 value | ≥ 90 | Show you the true color of nature Reach 98 |
| FIELD SIZE, cmDiameter | ≥ 20 | Electrically adjustable from 20-30 cm |
| FOCAL LENGTH, cm | ≥ 70 | More than 100 cm |
| ILLUMINATION LEVEL, maximum lux at 1 m | ≥ 150000 | Max 160000 lux |
| CONTROLS | yes | yes |

| Seller Code No. Item No. | Brief Description of Goods ## | Quantity offered and | Country of Origin | Price per physical unit [Bidder may insert permissible | Total CIP price | | |
|--------------------------|-------------------------------|--|----------------------|---|---|--|---|
| | Item No. | physic | physical unit | 1 of Origin | CIP MOH Warehouse from any Italy Port to Um- Qasr Port by Sea then to al Dabbash warehouse by trucks. | | |
| LAM II | 1 | Surgical lamp - LAM Series Double light head (160k Lux *140k Lux) - LAM II with camera preparation & color temperature managements | 159 | Germany | 23,677 USD | 3,764,643 USD CIP BAGHDAD MOH WAREHOUSES AL- DABBASH | + |

7٦- تجهيز أجهزة Lights Surgical Ceiling Mounting / رقم المفاتحة 61/2022/60 شركة GREEN FORREST

| # | Item | Qty | Unite Price | Total |
|---|---|------------------|--------------------------|-----------------------|
| 1 | Operation Ceiling Light : Model: BIOL800/800/C | 159 | \$22,000 | \$3,498,000 |
| | لللله عبر معون ألف دولار لا غير | ئة و ثمانية و تس | . ثلاثة ملايين و اربعمان | المجموع النهائي : فقط |